=Ju =
z B & i &
T H4 W AR EEPEAK KR 7 g 15
i T 3% Bt MOFTEMNT T H1—35
T o A TH 290 5 a5 2 10H T
- THIIE R \
75 O HEAKR T DA
CEA LFEOEMN
w A 3 (M) T F fii % (M) HEBMHYEE (1)
S SRy | 15,093,100 13,721,000 (A) 1,372,100
VAL Gy | 15,235,000 13,850,000 (B) 1,385,000
EFIE SRR 14,168,000 12,880,000 (C) 1,288,000
YA S SR 14,301,100 (F) 13,001,000 (D) 1,300,100 (E)
HEIRUEE 133,100 121,000 12,100
HEHXD)  B) X (C)+A)=(D) <K (D) X TFHAmEIET>

(D) X0. 1=(E)
(D) + (E)=(F)




4 RERAESEEEK B R T E T LR No. 1
. a2 HRI AT H % o Lo
# e ;’X”J”i?, B . . Rl . S F | A
BN LI W A e | MR ONAT W G| EOIMBER i =
[ERERIE X<
I| Bk L5 = 9,385,882 Y 9,340,442 -45,440 FEE
HE T HEE 9,385,882 9,340,442 -45,440 FEE
Him g
I ks = 342,651 = 362,817 20,166 HE%EE
| HGEHE iy 2,214,339 = 2,352,818 138,479 H4%H
| —fEsEE = 1,778,293 = 1,793,943 15,650 HE%E
ImEE 4,335,283 4,509,578 174,295 H4%H
- 13,721,165 13,850,020 128,855 H4%H
T EAMmkS T-H AR50 4 13,721,000 13,850,000 129,000 H4%H
VA B B S AH 4 %R 1,372,100 1,385,000 12,900 H4%H
wAE (rEE) 15,093,100 15,235,000 141,900 H4%g




4 RERAESEEEK BKR T E T L No. 2
‘ TR E AT H b 1z
%’ = N3 _._"jX +A\1\, il = NV _._‘FIX %, = ==bs
F W F | gm ww wn | ew | mE wer wm | em | 0 WP WS
[ (BRI L
HEAKE i s 15 = 5,056,760 Y 4,966,360 -90,400 JHi%E
2 ka/KER e T3 iy 3,526,970 by 3,563,670 36,700 HE%H
ik T = 802,152 = 810,412 8,260 1¥%H
EFF 9,385,882 9,340,442 -45,440 JEE




W RAEEAESEEEK BRI T No. 3
BN =T ZIL=L N B 42 - i
#F BOE | o W e | EE O W e | S
1 |[HEKEE S E L
(=)
PD-001 HEHEAKARL T 50,6 X100L/min X 9m 0.4k 2 B 90,400 180,800 2| & 86,500 173,000 -7,800 Hi%E
PD-003 HEfEkARL -~ 50,6 X 100L/min X 9m 0.4k 2 B 90,400 180,800 2 B 86,500 173,000 -7,800 WA
PD-004 HEHEKAR L~ 50,6 X100L/min X 9m 0.4k 2 B 90,400 180,800 2| & 86,500 173,000 -7,800 Bi%E
PD-005 HEHEKARL T 506 X100L/min X 12m 075K 2 B 90,400 180,800 2 B 90,400 180,800 0
PD-006 HEHEKARL T 50,6 X100L/min X 9m 1.5k 1 & 153,000 153,000 1 A 86,000 86,000 -67,000 JEE
PD-007 75/KART 65.6 X 400L /minX 12m 220 2 B 175,000 350,000 2 B 175,000 350,000 0
PD-008 RN/KHEAKRL T 1506 xa.0000minxiim 1w 2 B 567,000 1,134,000 2 A 567,000 1,134,000 0
PD-010 RLER/KHEAKRL T 500150 minxiom 700 1 & 512,000 512,000 1 A 512,000 512,000 0
WA 1 X 32,880 JRIE=V 32,880 0
EINE EIREEE S T 1 K 643,250 1 K 643,250 0
B /25— A R MDBET | ¢ 50 MR ER - (T 85 m 9,120 775,200 85 m 9,120 775,200 0
BEA /25— Ve A DR 6 80 FR R - (T 8 m 13,240 105,920 8 m 13,240 105,920 0
BEAR /25— A W MDA | ¢ 150 HghREs - (T 4 m 27,150 108,600 m 27,150 108,600 0
AR ILE = 1 9= 7 16 MDAET | ¢ 200 bR =R - (73T 12 m 38,430 461,160 12 m 38,430 461,160 0
B & U)Wy 1 3 57,550 1 K 57,550 0
/NG 5,056,760 4,966,360 -90,400 JEE




4 REEAESEEREK KR TR L No. 4
. a2 HRI AT H % e .
2 N7 NV3 L'ﬂu+é\1\, H pr 7 Y3 Jjﬂn %, pree = HRAE
ROH LT W A e | MR NAT W G| EOIBER i =
2 |Fa/KERSE TF
(H=s)
PW-001 #KkR~7 656 X 400L/min X 45m 5.5 2 B 749,000 1,498,000 2 A 749,000 1,498,000 0
PW-003 #KkR 7 320 X 100L/min X 35m  1.5W 2 B 264,000 528,000 2 & 264,000 528,000 0
PW-005 24t FH /K ALERAR 7 506 x450L/minx Tm 1.56W 2 B 328,000 656,000 2 A 328,000 656,000 0
e N2 1 =K 23,080 1 = 23,080 0
PafT BRI E ST 1 =X 351,580 1 K 388,280 36,700 HE9%E
TR P T AU AL = /L AS  Mebkss - (57 50A HIVP 3 m 10,090 30,270 3 m 10,090 30,270 0
T P AT AN U A = /L A8 Mebss - (BT 80A HIVP 3 m 15,350 46,050 3 m 15,350 46,050 0
T T P R AN A = /L A5 k- 8757 100A HIVP 3 m 20,250 60,750 3 m 20,250 60,750 0
ek SUS ~m—2X 50A 4 A 16,390 65,560 4 A 16,390 65,560 0
5 Pk T SUS ~m—% 80A 4 A 24,620 98,480 4 A 24,620 98,480 0
Bhf=HE T SUS ~<E—32 100A 4 # 30,030 120,120 4 f# 30,030 120,120 0
REERmI R 1 =K 49,080 1 = 49,080 0
ING 3,526,970 3,563,670 36,700 HE%E




4 RERAESEEEK BKR T E L No. 5
‘ Xt A BRI L H % st -
A WOR | mm w win | bW | BB W wm em | oTHEL WS
3 |MELE
WETLHE RAER A B BT = 802,152 Y 810,412 8,260 Ha%E
/NG 802,152 810,412 8,260 HE%E




